S1 Appendix: Equations used in the model simulations.

L-type Calcium current — lca.
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T-type Calcium current — Icar
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Voltage gated Potassium current — I,z (KCNQ)
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Voltage gated Potassium current — lky
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Calcium dependent large potassium current — Igx
Igx = gpk * 0 * (V — Eg)

Common rate equations:

c=en(22), b= ()

Kon = 345, Kcoff: 25, Kooff = 25
0=01+02+03+04
Rate equations for voltage dependent transitions:

Kcooo = 0.02162 * a, Kcio1 =0.000869 * a, Kczo2 = 0.0000281 * &, Kcsos = 0.000781 * a, Kcaos =
0.044324 * a,
Kooco=318.1084 * b, Koic1 = 144. 1736 * b, Kozcz2 = 32.6594 * b, Koscs= 0.095312 * b, Koaca=
0.000106 * b * cai

Rate equations for calcium dependent transitions:

Kcoci= 4 * Kon * cai, Kcico= 3* Kon * cal, Keaca= 2 * Kon * cal, Keaca= Kon * Cali

Kcacs= 4 * Keor * cai, Kcaco= 3 * Keorr * cai, Keaci= 2 * Keorr * cal, Keico= Keoff * Cal



Kooo1= 4 * Kon * cai, Koio2= 3 * Kon* cai, Kozos= 2 * Kon * cai, Kozos= Kon * cai

Koaos= 4 * Koott * Cal, Kozoz= 3 * Kooft * Cal, Koz01= 2 * Kooff * Cali, Koioo = Koott * Cai
Calcium dependent intermediate potassium current — Ik

IIK=E*l2*k*(V_EK)
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Calcium dependent small potassium current — Isk
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Inwardly-rectifying channel - Ix
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ATP-sensitive K* channel (Katp)
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